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3. The radius of a cone was measured and found to be 3cm with a possible relative
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error of ——. If the height of the cone is measured to be triple of the radius, then
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1
(Hint: V = = wr%h) Q
g \/ = % Ty L =

.03 -
c) (0.01)7 N Z“YL*Y ) &‘L
d) (0.03) \’C\OJV\\AQ ey or é:\;-— = = 3 -
e) 37 T
= 3 ( 0_‘_°3_§_ = WeES

Av _ 0.¢3
ne'te v 3

4. If C is a number that satisfies the conclusion on the Mecan Value Theorem when
applied to f(z) =In z on [1, €], then C =

\
v(\CC) = ‘e(_,...._—-—e')-‘(:c\) = 2=

S e-| e-|

b)ei2 - \/,_. /,’ —:;C:cv\
-1 C e-|

d)e—|2—1

&) —

e+ 1



Math 101 Section 8 Quiz ITI(B) (Term 163)

5. lim (1-4 sin(3z))5cot (92) _

S Scet (C{x)
9= ()= Ysin(zy )
e - Sin (3%
O}j):—zom = zzkj =5 Ca+(°(>k) /eMU ))
ch i S-S in (35) .
i Dhim Ly = lim el
d) b v*'* ot 3 X = g% ‘l"ﬂv\ (ﬁ X) Q
° 1 - S (<12 e53 %)
e —{o -— A0
E_H_R-l.‘mﬁl ={Sin 30 _ ? = e
¥ g sec(qx)
- -
= M= e
6. The slant asymptote of f(z) = ez 4 4 7 5
X
\ ’(., \O\i \‘\M c = 0
Vs Nete )(\-\-;Mco o Ko = b
T 3 - Mc( L ;,\,.d,\{"(m(k
y=z+4+1 We ove \ua‘o(nrxj ‘@" WA
d) Y=-22+1 N
e) None of them \iM E-@G«)— CMX&\o)-B = O
O Y

X ((-b)\ =
Since \im €2 w0 = lim [ 4Cam)x 1=
\Wee (A0 - va N
K 00 8

- b Lol 4\—»‘4-_6

K =08

= na= | 2y =|

T N AR



Math 101 Section 8 Quiz III(B) (Term 163)

7. Suppose that 3 < f/(z) < 5 for all values of z. Then a < f(8) — f(2) < b where
b — a is equal to
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9. The absolute maximum of f(z) = ze™**/8 over [—1,4] is .
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11. The polynomial f(z) =1+ 2z + 622 — 2% is
(CD:concave downward, CU: concave upward)
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13. If f(2) = tan-! (sinh z), then f(z) is
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